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1 logy g =2
3. logys=4

5. logya® =6

7. logy(5z—1)=3

9. 6=log(w? +4)°

11, 2logy3—logy(z+1) =3
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10.

12.

logs125 =@

log 5t=6

loga4+1logy 6 =logy

logs(3z — 2) =2

logg(y +4) +logg(3y) =2

logx — log(x +3) = —1
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logy(3d + 1) = loga(4 — d)

15. log{z +5) — log(3z) = log(z + 1)

5
=

2log{y + 2) = 1 +log(y* —4)

19. Qogy)” = log (¥5)

21 In(z+1)—lnz=1n2

23. I’z+lnad+2=0

14. log(n+4) =1 —log(2n)

16. logs(y? + 5y + 6) = logy(y + 3) + logs 4

18, log /(0 —872 =4

20. In(3z—5)=0

22. lnz+3ynz—10=90

24, I’z —Ina’ +10=0
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